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SEE 2081 (2025) °
(mfaftre aRa®)

9T : 3 e o - T : oy
RET@T FréeraaT anarear aret eiar Reofarers ot RTe:
q4 ISP IO FGE(?R[ (Answer all the questions):

—
.

T9E ‘& (Group 'A") . [10x1=10]
fix) = x? +5x+6ﬁﬁmmm?ml
What type of the function is represented by j(x) = x* +5x + 67 Write it.
N9 D] YT ASTEI | , |
Write the statement of remainder theorem.
Emmwﬂx)hﬁx=awhwga?ﬂqﬁm
In which condition a function f{x) is continuous at the point x = a? Write it.
Tae ATTAIS! FSTea Wi i &5 ¢ defer | -

" What is the determinant value of singular matrix? Write it.

10.

WHHEEE m; I m, TIH G5 J@EE THMIR g1 Jaedl Aefele |
Write the condition of parallism of two lines having slopes m; and m;.

TSel WAE FHANT YA F ITCATHT FhAHTT T W ARS, ?
e |

In which condition a circle is' formed when a plane surface ‘intersects a
cone? Write it. :
Co0s20 &% tan® HF AT A<h TRl |
Express Cos20 in terms of tan®.

Ifg cosA=1 T A F FABNT A Jeerd |
If cosA =1, write the acute angle value of A.
afr g€ SRREE P 7 § Ry @ B W CosP @ WA TR N T
deferyg |

If B be the angle between two vectors p and then write the formula
to find the value of Cos.

Wozmrmmpaﬁmhﬁ?awﬁhﬁmp
zp'mrgamqomomowwm OP' T r fa=ar Ty
éﬁ{ﬂ'@[l :

The inversion point of a point P is P! in a circle having centre Q and
radius r. If the distance of the point P and P' from the centre O gre Op
and OP', write the relationship among OP, OP' and r, .-
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20. afg F TEIRR AfrEr AW 98 T BF 9T FAW 12 T 96 T A A
gfesr g ¥ afeer =Rafer TP RIRE R mﬁrﬁfm HAAT Fh
&4 ? 99l Teey | .
If the third term and sixth term of a geometric series are 12 and 96
respectively, what is the arithmetic mean between first term and the sum
of first four terms of the series? Find it.

21. % f(x)=3x—5T arfaF Fe @ |
f(x)=3x- 5 is a real valued function. .
© (a) £(3.9), £(3.99),f(4.01) T £(4.001) TaT mﬁ’fﬁ’ﬂil
Find £(3.9),(3.99), f(4.01) and £ (4.001).
"o +f(x) T TR |
‘x—4

Find lim o f(x) and
x—>

®)
@

(c) & waA f(x)ﬁﬁx 4 W1 G ? m&v@m
Is the function f(x) continuous at the point x =4 ? Give reason.

22, TR FafraY TaRT 9 & e (Solve using Cramer's rule):

4x +3y=-18, 2x-5y=4
: 23.1Whm 22 + Txy + 3y° = oamﬁ&am@mw
T 9T dISey |
Find the angle between a pair of lines repmented by the equation
252+ Txy+ 3y*=0. 1

24, FARTE TR (Prove that): Cos20° Cosd0° C0§v60° C0380° =16

25. 7 A + B + C = € 9T yaiira TR (If A + B + C = n° then prove
that):
' Sin2A + Sin2B + Sin2C = 4SinA.SinB.SinC
26.mmmzommmummzmm
Fores FAM: 30° T 45° G W ERETH JAF Tl T AT |
From the top of a tower the angles of depression of the roof and
basement of a building 20 meter high are 30° and 45° respectively. Find
| the height of the tower,
27. P(1,2), Q4, DT R (2, S)Wﬂ‘ U@ 79T Pnger PQR W Uer
2x2 AfgFad wrATRRwr Tt ¥ giafvEer Wt
AT P'(5, 2), Q'(6, 1) T R'(12, 5) WY 2x2 e wor TaeIg |
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§F W (Group 'B") [8x 2 =16] -

11. nﬁ: f(x)- zg(x) 5x+3 wqﬁg(Z)a?rmqmmaa’m

_ If f(x)= ——and g(x)=5x+3, ﬂndthevalueoffg(Z)
12, ¥feo y= x> -5x+6 mﬁmmwmn

. Find the Vertex of parabola formed from an equationy = x> —5x+6..
13. A= [ ]a?rhwﬂaﬁﬁ;mmmmml
Find the i mverse matrix of the matrix A = [2 g]

14. g (-2, 53 (1, a) 91 AT QT FHIFT 2x - y+5 omm?amrm

& ¥ a B AT 9T LR |
The line passing through the points (-2, -5) and (1, a) is perpendicular to
the line having equatlon 2x -y +5 =0, find the value of a.

A

15. ywitora ﬂifﬁ?{ (Prove that): v1 — sind = sin2 — cos4

2 2
16. & THERY (Solve): 2Cos?6 - 28in’6 = 1 o<o<z]

17. a—31+21tb 41—6] mqwmmwﬁrwﬁmnml

Prove that @ = 3i +2j and b=4i—6] are perpendlcular to each
other.

ls.mﬁwmmaqﬂmmzozma@m@,)=lo
B | Y el Jqui Rrerarer s I SR |

. The interquartile range of a continuous data is 20 and the first quﬁ[e
(Q:) = 10. Find the coefficient of quartile deviation.
T T (Group'C') -. [11x3 = 33]
19. 9% £(x)=3x-5,g() =227 ¢ fg7(x)= f(x) W x P v
AMI TR | |
K f(x)=3x-5,8(x)=
of x. -

and f,g”'(x) = f(x) then find the value

2x+7
3

/



28.

(¥)
RE - 2023

A triangle PQR having the vertices P(1, 2), Q(4, 1) and R(2, 5) is
transformed by a 2x2 matrix so that the co-ordinates of the vertices of -

its image are P'(5, 2), Q'(6, 1) and R'(12, 5) respectively. Find the 2x2
matrix.

&g@m@mmmﬁﬁmmml

Find the mean deviation from mean of the given data.

qTTeF (Marks obtained)] 5-15 | 15-25 | 25-35 | 35-45 | 45-55 |

qIRFRAT (Frequencﬂ -3 5 4 5 3

29. mmwmmml

~ Find the standard deviation from the given data.

30.

31

32.

33.

TR (Class Interval) | 2-4 46 6-8 8-10 .
qRAERdar (Frequency) - 3 4 2. 1
| WE W (Group'D) . [4x 4= 16]

miﬁsx+2y<8 3x+2y512 x20Ty20F JARAT SgXAFAT
P =4x+ 6y N AfHaH A T AMS LY |
Find the maximum value of the objective function P.= 4x + 6y under
the constraints x + 2y <8,3x+2y<12,x>0and y > 0.
THF X + y* — 4x — 6y — 12 =0 ACH JOdl TSeT ATHH TF 9
(5,4) T FFHT BIH fIMIFE® AT AR | :

One end of a diameter of the circle havmg equation .

X' +y —4x -6y - 12= 0 is (5, 4). Find the coordinates of the other
end of the diameter.
WXYZWWXYIYZHWWW ATBSI AFT

faftrare yotrer {8 : AB // XZ
Ina trlangle XYZ, the midpoints of the sides XY and YZ are A and B

respectively. Prove by vector method that: AB // XZ.
wiHfage® A(l, 2), B(4, —1) T C(2, 5) ¥ Pn@t ABC % YEws
x= szy—-ZWWWmalmqmﬁnﬁmﬁ

yiafrraess drifa<es &1 ey | ABCY ‘Ji'ﬂiaﬁlﬁﬁﬂlﬁ
TSe @A fa=gee | : o
A triangle ABC with vertices A(1, 2), B(4, —1) and C(2, 5) is reflected .
successively on the lines x = 5 and y = —2. Find the vertices of the

images so obtained. Plot the triangle ABC and images on the same
graph paper.
~0-
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SEE 2081 (2025)
AfeaE gaw v

AT : 3 " ‘ qUITE : O,
fegwar o amarear st ST Risfrenes g Regaieg
T TUEEE! 9uv R (Answer all the questions):.

T ‘@ (Group 'A') [10x1=10]

T/ UAYRIT FeATehl qRoaTaT defere |
Write the definition of cubic function.

R YT TS FHMIGT At feel 92 'a' @AM I 'd' T TGEEal 9ge
n’ memnmwmwmzﬁml
If the first term of an arithmetic series is 'a', common difference 'd' and
the number of terms 'n' then write the formula to find the sum of the first
n terms of the series.

L HfaTE g ISETREd THEH AW deferd |
Write the name of the set of numbers which is continuous .

Y. F yaear feguar Afrwe frafa A o & 7 JeE |
In which condition the inverse matrix of the given matrix does not
exist? Write it. -

L. Uf¢ TF EREH HEEEE FAMW m; T my WC FA FTEE O @ES
AYYHT 4 o], ! eTerd, |
If the slopes of two lines are m; and m;, respectively, then in which
condition these two lines are perpendicular to each other? Write it.

t 98 WIS A AR 9 ARl AERET WA § T
SiqeaRa TeT FET ST i I 7 AeTEd |
Which geometrical figure is formed if a plane surface intersects a cone
parallel to its base? Write it.

S, sin3A g sinA F IR AERI |
Express sin3A in terms of sinA.

5. sinA - sinB ®I§ TGS IYHT A9 TR |

Express sinA - sin B in the product form.

& e Y-aefE T e 7w (J)? @ w g 2 aete |
/ If J is a unit vector along Y-axis, what is the value of ([")2‘7 Write it.



q0.

1.

R

1%

¥

4.

1%

qu.

R RE-2021'A’
IhA FUAT dAE T X F fag ‘0" @) afe fag A #r wfafas A g
OA X OA' TR F{d g3 7 Aeferq | _
The radius of the inversion circle is '’ and the centre is 'O". If the image
of a point A is A', what is equal to OA X OA' ? Write it.

g ‘@' (Group 'B") [8x2 =16]

afe fix) =2+ mx?- x +7 9% x-3 A 9 T 99 4 TS AT m B AA
9 qreg TERT T 941 TSery |

CIffix) = Y+ ma?- x +7 is divided by x-3, the remainder is 4. Find the

value of m using remainder theorem.
JTATAT X - p > 2 ATE QI TKT Tl |
Present the inequality x - y =2 in the graph.

o D = 4 2 4 1
D—lO,D,,—26TDy=_2 7‘ﬂt{xTyEFTFH'EREWIT
AMSTerg |

4 2
IfD=10,D,= ) 6 and Dy=|_ then find the values of x and y.

. gf T 3x —y + 7=0%F ke + 2y + 8 = 0 WUH T W@EE

FATR AT k 1 A9 99T TSR | |
If two lines having equations 3x —y + 7 =0 and kx + 2y + 8 = 0 are
parallel, find the value of k.

yaiforg TErg, (Prove that):

sin50° —sin30°

cos30° —Cos50°
iz 3tan’0 - 9 =0 9T O FT A gaT TSR, | (0° < 0 <90°)

If 3tan’@ - 9 = 0 then find the value of 8. (0° <0 <90°)
afz d.b =48, |dl = 6v2 7 |b| =8 Y d¥ b FereraT v e AMSEI |
Ifd. b =48, |d| = 6V2 and IEI = 8 then find the angle between @ and b.

=cot40°

SHHT:
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1.l FF TangFEHr e wqaiw (Q) P O 43 T =y Ma=rar

R.

0.

1.

R

EER

.
.

(Q.D.) 6.5 & W= =rqaiyig fa=rare! UNEE 93T FnSTere |
If the value of first quartile (Q,) of any data is 43 and the quartile
deviation (Q.D.) is 6.5, find the coefficient of quartile deviation.

. g ' (Group 'C") [11x3 =33]

afs qgaier wees fn) =ZE T gln) = x + 4 WY (g)'(3) T
TS Tard |

If two functions are j(x)—--— and g(x) = x + 4, find (£:2)"'(3).

T O P+ 2x -3 = Oﬂﬁﬁ'@'ﬁ?&fﬁmﬁmml

Solve quadratic equation x*+ 2x — 3 = 0 by graphical method.

o e =[3x—1forx22 oo e _
fix) {x+3 forx < 2 B, = . Ax), x=2

AT T g6 7 R feeeig |

If the function f{x) = {x‘?'i 3 1 ff)orr;izz is defined, is the function f{x)

continuous at x =2? Give reason.

Aigaq fafgRT & TERL (Solve by matrix method)
4x -3y=1land3x+7y+1=0

?ﬁrx2+y +4x-6y-36= oﬁrmhﬁwaﬁtv‘ﬁfﬁa’e 5) I
AP FHTIHIO qTT AMS eI |

Find the equation of a circle having centre (3, 5) and passing through the
centre of the circle x*+ y* + 4x - 6y - 36 = 0.

2
gatiore e (Prove that): — cos” A—sin’ B =cot(4+ B)

sin A.cos A+ sin B.cos B
FigA+B+C=180° W FHITT TR
If A+ B + C=180° then prove that:
cosA + cosB + cosC = | + 4sin g sing sing

. TF VAT Hqardd ddiet 20 W36 TRl FAATE SFATHerT raa! Tur T

TS AR AT IAAIT B T FAAT PO HA 45° T 30° ICH
T ITh MA@ IATS I4T AMgard |

An observer observes from the roof of the house 20 m high to the top
and bottom of the television tower and found the angle of elevation and

angle of depression to be 45° and 30° respectively. Find the height of the
tower.

D HIT.
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29, uﬁ:ﬁﬁ;?m(p ZJﬁWWWE@W(O b e ZJHT

5.

R.

30.

R

g 2 01 3 d

MRV € 97 p, q, ¢, d & ATFEE 901 AMSRIY |

“
If the matrix (p 2] transforms a unit square to the parallelogram
q

0 4 c
01 3

fesua TaTgwH WwdaTe AeAd PaeTaT 9T aS el |

Find the mean deviation from mean of the given data.

2
d} find the values of'p, q, c, d.

=X (Class Interval) | 0-10 [ 10-20 | 20-30 | 30-40 [ 40-50

grarar (Frequency) | 5 8 15 16 6
fegua qaTE@aTe GreREdTE TUIEHE T dSTerd |

Find the coefficient of variation from the given data.

yT<irgs (Marks obtained) 0-6 | 6-12 | 12-18 | 18-24 | 24-30

framrdi wrg@m (No. of students) | 4 | 3 5 6 12

¥ "' (Group 'D")

'cﬁ?fmm JHATR ANHT S T O ISeEd qrThd 15 8 |
gl qfeelt ¥ T wgE e iR W 4 3 o §) geEee T
TSI |

Three numbers are in arithmetic series and the sum of these numbers is

15. If a geometric mean between the first and third number is 4 then find
the numbers.

[4x4 =16]

. AT ¥+ 2xyseca + yF = 0 & Yiatilre T UF SIET @RS S

Tt FEHOT G AMSTRE | WA & @eE fa=er @ qft gwr
AR |

Find the separate equation of a pair of lines represented by the equation
X+ 2xyseca + y*= 0. Also find the angle between them.

AR Fqqd PQRS & fqeuie® PR T QS WX WHIEWNH &BT
af e faftrare ywfra TR |

Prove by vector method that the diagonals PR and QS of a parallelogram
PQRS bisect each other.



W RE-2021'A’
3. faearliaRw E &1 &= A9 FAW (3,-4) T2 IR A @ y=0
g7 TIHad 98 |
The centre and scale factor of the enlargement E are (-3, -4) and 2
respectively. R represents the reflection in the line y = 0.
. (%) GFT AR EoR & P(x, y) @18 & fawgan wammwaeor wa; 7 aa

A erd |

In which point the combined transformation EoR transforms a point
P(x, y)? Find it.

@) sidfge® A2, 0) , B3, 1) T C(1, 1) wua AABC e HqE
STATRRY EoR FART T8 AR TR

* Transform the AABC with vertices A(2, 0), B(3, 1) and C(l 1)
using the combined transformation EoR.

(M) AABC R Yfafarens qae d@haaar WK e, |
Present the AABC and the image in the same graph paper.

-0-
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s yaw ftre

qWY : 3 HOeT quteEF :
Regvar [dvraar smerear st ffmr Risfarens e Regeig -

T gyeEH Iux KRR (Answer all the questions):

1.

R

g ‘& (Group 'A') [10x1=10]
FUA Fesd! 9T Sefeiy |
Write the definition of quadratic function.
TR AMH n e GREEd! ARG e T deEy, sBf Twe
AT (1) F A | =T 9@ G |
Write the formula to find the sum of a geometric series having n terms,
where common ratio (r) is more than 1.
N vyt e e
xX—a
Write tin _ f(x) in sentence.
x—a

afs TH 2X 2 WUH QI O AR A @ faoda dfr AT AT AAT
TR & §d ? defery |

If the inverse matnx of a square matrix A havmg order 2% 2 is A, what
is cqual to A.A™'? Write it.

gzmwwﬁﬁmmm. Tm, B | faes fa=rar @ror ger
TS qF A&l |
The slopes of two straight lines are m, and m, respectively. Write the
formula to find the angle between them.

Tl AeAdrE qaaard qdee B AGLTHT Iia=eed 1T IRTEE a<g, ?
TETR |
In which condition a plane surface intersects a cone to form a parabola?
Write it.

cos2A TATE coSA HT TYHT AFT eI |
Express cos2A in terms of cosA.

SinC-SinD @€ Sine T Cosine & TUMH®! TYHT &R |
Write sinC - sinD in terms of product of sine and cosine.

uﬁazbmmabmmﬁmﬂm{l

If aand b are perpendlcular then write the value of a. b.
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1.

R) RE-2021'B'
afy d=fag O T sferr@ ¢ U gamn fawg P @1 9oRH fag P @ T
OPXOP' aay & g3 ? ATaI |
If inversion point of a point P is P! in a circle with centre O and radius r,
what is equal to OPXOP' ? Write it.

g ‘€@ (Group 'B') [8%2 = 10]
ot TR Ax) = =532+ (k+1) x + 8 T UGET [T @UF (x - 2) TC Kk F

| mmm@m

R

13

9¥.

«.

1%

99,

If one factor of polynomial f{x) = x’-5x*+ (k-+1) x + 8 is (x - 2), find the
value of k.

FEAAAT 2v +y < 3 & F@itag Ra={E |

Draw the graph of the inequality 2x + y < 3.

THEHEE 2x -y =5V x - 2p =1 mmmmnﬁD 7 Dy
& HFEE qaT AMGTery |

Find the values of D, and D, using Crammer's rule from the equations
2x-y=5andx-2y=I.
afr gHEEE cx +dy+e=0 T fx + gy + h = 0 ICH T @E=
ATIYHT FAMTR 9T cg — df = 0 78 1 oI Tears |
If two lines having equations cx +dy + e =0 and fx + gy + h = 0 are
parallel to each other then prove that cg - df = 0.
: . @
. Sin@ +sin —
g e (Prove that): 2 _an?

co,50+cos-z—+l

& TR (Solve): V3 tanA-1=0 (0°<A <180°)
afz |d|=4, |b|=6 7 d.b=129T d T b fa=a Fw w™T TSR |

If |d|=4, |B|=6, and d@ . b=12 then find angle between d and b.
. 03 fageay AvirAr gfgel Sqaierer €8 U O™ S & ) afe gfeer

AT T T TP AR 90 WY AL e w TSR |
In a continuous series, third quartile is two times of the first quartile. If
the sum of the first quartile and third quartile is 90, find the quartile
deviation.
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R0,
. afz wawrj(.\-)—[z"‘M forx <3 whomr g wr & wem fx),

K.

LES
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‘3’ RE-2021'B'
g T (Group 'C") [11x3 = 33]
afe g(x) = 4x - 17, fx) =Z2 T gg(x) = f(x) T x FT AF G=0
AMSTEr |
Hg)=4x-17,Ax) = —and gg(®)=s"{x), find thc value of x.
SENREANECRIG HE (Solvc graphically): X +x-2=0

4x -2 forx=23

v = 3 91 Rt g 7 ervrfed aEERg |

If the function fx) = [Zx +4 forx <3

4y —2 forx>3 '© defined, is the function

Alx) continuous at x = 3? Give reason.

#fga faftrare & T (Solve by matrix method):
X =§y and 4x - 3y =1

A 2%+ ) - 10+ 4y + 13 =0 & F TR AW T deatag (2, 3) TCH
FAP! THIE T AMSTRY |

Find the equation of the circle whose centre is (2, 3) and passes through
the centre of the circle x*+ y*- 10x + 4y + 13 =0.

gt ey (Prove that): cot[§-+%—J—tan[£_” ]: 2cos 4

2 4 14sin 4
afg A + B + C = n° T T TT{ers
IfA+B+C=n° then prove that
cosA + cosB — cosC = 4cos ﬁ cos— sin 5— -1
mw@zmwmmﬁaﬁ 10 #r.3rEr TR
Hleae! TSl Af<IPI TNIAT 831 FEAld P T I B0 FAMW 60° ¥
30° 9TSUS 9 <! I9Ts Yl ASery |
The angles of depression and elevation of the pinnacle of a temple 10m

high with pinnacle are found to be 60° and 30° respectively from the top
and bottom of a tower. Find the height of the tower.

o st [3 2t o vt v st [0 4 S 2
TR M58, 49 a, b, ¢ T d FT AMEE T ANMNSTRI |

If the matrix [b 2] transforms a unit square to the parallelogram

0 4 ¢ 2
01 3 d

] then find the values of a, b, ¢ and d.

HHIT.
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Rc. I qugaa wivrarare wwrs Prerar aar e |

Find the mecan deviation from median of the given data.

qrarg® (Marks obtained) | 0-10 | 10-20 | 20-30 | 30-40 | 40-50
feamdt wg@m (No. of students) | 3 8 5 6 4

R. Rz qungFare @da Mear var e R |

Find the standard deviation from the given data:

RE-2021'B"

FAEEAD Age (inyears) | 04 | 4-8 | 8-12 | 12-16] 16-20 | 20-24

feremdt 9@ (No. of students)| 7 8 10 12 9 6

wE @' (Group 'D") [4 x4 = 16]
30. TSN FHMTR NHT w1 J 3T Igaeed AMha 18 & | afx
et ¥ A e faEe iR W 442 T & agEnEE g
CUIELEEE
The sum of three numbers in an arithmetic series is 18. If the geometric
mean between the first and third numbers is 4v2, then find the numbers.
. FHERT x*- 2xy cosech + > = 0 & AR T TH WireT @esEaH I
T O T NN | Y & e e o afe g
TSI | :
Find the separate equations of a pair of lines represented by the equation
x* - 2xy cosec + y*= 0. Also find the angle between them.
R FREg O AT A FOH A9 PQ T Ia JHgadl TRRAT T Tgar
fag M & 1 f%ex fafrare wira @R 1 ZPMQ = 90°
PQ is the diameter of semi-circle with centre O and M is a point on the

circumference of the semi-circle. Prove by vector method that:
£ZPMQ =90° ]
Widfages P(4, 3), Q(-2, 0) X R(5, 2) 9UH TEer Bw PQR =¥
T = (%) & frearrr i@t @ ¢ o b Sam g AR
HMeAd fgamEr 90° T uiEww uRudr 8 1w wiafaeesd
vifarEERT FAEuTEERS 9N SRy ¥ Rewat P 7 afahreeeans
US? q@EieFAT fg=er | |

A triangle PQR with vertices P(4, 3), Q(-2 ,0) and R(5, 2) is translated
by T= (;) and the image so obtained is rotated through 90° in negative

direction about origin. Find the co-ordinates of the vertices of the

obtained images. Plot the given triangle and the images in the same
graph paper.

AN

-0-



